EARCEINEZRS ISP RFLLAL LGRS 30%)
53 4 % 30% =16 *+ FAM Y FHRA FXAHFEY

CRBETEAL BETREE R [P BB R BT E A S E AR S AR B S F AR
I HEH |EVEEA 1 13| 8(62%) 4.97  85.06 99. 10%
2 [WHETT | TR 1 52| 15(29%) 4.90] 84.40 97.20%
3 BRIt |EVIRE A 2| 107| 47(44%) 4.82[  84.16 95.30%
4 (BREETS | R iE R 1| 102 63(62%) 4.84f  83.86 93 40%
5 [BRFERE |EVREEE A 2 92| 35(38%) 4.80 83.85 91.50%
6 |HifE  |EVEEA 2| 57| 26(46%) 4.82[ 83.80 89. 60%
T |tRRgE (R 2| 334{178(53%) 4.83|  83.76 87.70%
8 |EZ |AVEZEA 2| 106| 44(42%) 4.82] 83.62 85.80%
9 B |4EREE L 1 59| 17(29%) 4.81] 83.56 84%
10 |l |t 2| 334]183(55%) 4.80] 83.41 82. 109
11 |[F#E  |EY 2R 1| 58 16(28%) 4.79] 83.38 80.20%
12 |R%EFH |EPLER 3 166[ 66(40%) 4.78]  83.36 78.30%
13 RIS [fRElE2nt 2| 334]184(55%) 4.78]  83.32 76. 409
14 [REE= (SR 2| 334{184(55%) 4.78]  83.24 74 50%
15 |20%F |5 AR 3| 166 64(39%) 4.76]  83.13 72.60%
16 |ERP5 | Rt 3| 504269(53%) 4.75  82.98 70. 80%




EFEACFINIEZRFY 1 EPRKFLLAEL L HEFHESE G 30%)
132 & % 30% =40 ¢ FAzHY  FERAFNALAFEY
G BT e IR N 84 B S B T E A E 4R o IR AE S5 B o 4k
I EE (BRI mERE A 1 59| 12(20%) 4.95  84.88 99. 60%
2 [t [BEEGEIHRE 1 32| 11(34%) 4.91| 84.52 98.90%
3 |5EE ([BEAYRITE RS A 3| 175[104(59%) 4.91| 84.51 98. 10%
4 (B [BEEREREEED 2 115 65(57%) 4.89| 84.28 97.30%
5 PRFIE ([BEAYRITE RS A 3 152 90(59%) 4.88) 84.23 96.. 60%
6 PREA (2RI 1 32| 8(25%) 4.88)  84.22 93.60%
6 |RIEF |BEEGERHTIE 1 32| 8(25%) 4.88)  84.22 93.60%
6 PRSI (BRI E R 1 24| 12(50%) 4.88)  84.22 93.60%
6 MET |[BEEGERHTE 1 32| 8(25%) 4.88)  84.22 93.60%
6 [[BAHTT [BEEG BRI 1 32| 8(25%) 4.88)  84.22 93.60%
6 [EFER ([BECEYIHRE SR 1 32| 8(25%) 4.88)  84.22 93.60%
6 [=WlE [BEEEGERHTRE 1 32| 8(25%) 4.88)  84.22 93.60%
13 |BRsgE B ERUNRIE 1 32| 10(31%) 4.87  84.10 90. 50%
14 & [BEEaRE 4 1 53| 17(32%) 4.86] 84.04 89.80%
15 [iFEE [ A 3| 189] 53(28%) 4.85 83.92 88.30%
15 |BfE |TEEA 1| 60| 17(28%) 4.85 83.92 88.30%
15 [EHMEFR  [BEEIaRE A 1 56| 18(32%) 4.85 83.92 88.30%
18 [#E) [WHEDERE R 4 142] 43(30%) 4.84) 83.84 86. 709
19 |READ (B REEE 2 120[ 49(41%) 4.84) 83.83 86%
20 BEFHRR (B HEE £ 2 78| 31(40%) 4.86] 83.81 85.20%
21 (ABZEEE | figiErEER 2 1| 47 20(43%) 4.83 83.74 84. 50%
22 |BEH |[BEEARE A 1 57 18(32%) 4.82] 83.68 83.30%
22 [B%E |TEEL 1 58| 29(50%) 4.82] 83.68 83.30%
24 (BREHE  (BEERAEYIRATE MR £ 3| 126] 70(56%) 4.78]  83.66 82.20%
25 | EHE  [WHEIARE L 2 S0 16(32%) 4.82] 83.65 81.40%




26 [FHEST [REHEEEZ 47| 16(34%) 81| 83.56 79. 509
26 |HREAD  (BEEERT AR 85| 34(40%) 81| 83.56 79. 50%
26 |EfEr (BB 61| 25(41%) .82 83.56 79. 50%
26 [fElGEh |[FEFREE A 65| 25(38%) 81| 83.56 79. 50%
30 [FRiEZ=  (VIEEREE A 96| 24(25%) 80| 83.47 77.70%
31 |RIEES  [EREEE A 190 70(37%) 78] 83.42 76.90%
32 [REH# [BEARAANAEREER 49( 22(45%) 790 83.38 75.80%
32 e (BRI 52 16(31%) 79 83.38 75. 80%
34 |(FHdE  [EHEE A 82| 25(30%) 54 83.36 74 . 60%
35 [HiER (DGR A 105( 26(25%) 19 83.27 73.90%
36 [HUAM (B2 A 25| 10(40%) 77 83.20 73.10%
37 FETEE  [ERRER 189 66(35%) 76| 83.13 72.30%
38 |[[IGHE (BRI A 128] 69(54%) 750 83.11 71.60%
39 |G |FEE A 58 35(60%) 76| 83.08 70. 809
40 |EMH  |BEEEERNFE A 123| 38(31%) 790 82.99 70.10%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

T8 4 % 30% =23 A ARAFY] 1 FH AT 4

IR BT 4 B BT A T E AR A B R 4 T A\ S E IR A S5 [T AR S B 4 )
I [fEEA |BEEAIEAT 1| 38 9(24%) S| 84.64 87.20%
1 [fEEE |BEERbetoe T 2 13| 8(62%) 5| 84.64 87.20%
1 [BotsE BRI TERT 1 6| 2(33%) 5| 84.64 87.20%
1 |BEE BT 1 6| 2(33%) 5| 84.64 87.20%
1 | e O R SR bt e AT 1 5| 1(20%) 5| 84.64 87.20%
IR TS 1 5| 1(20%) S| 84.64 87.20%
| [EE (BRI 1 5| 1(20%) 5| 84.64 87.20%
I (PRI [B&ERRE ST T 1 10[  2(20%) 5| 84.64 87.20%
1 |BiEs (BRI 2 10| 3(30%) S| 84.64 87.20%
1 MEZE |[BEERETERT 2 10l 3(30%) 5| 84.64 87.20%
1 [FEREEE R ERRE ST 1 7 2(29%) 5| 84.64 87.20%
1 |[tRefIE |BEERBESERT 1 12| 4(33%) 5| 84.64 87.20%
1 (Hhff |EEERRE TR 1 22| 5(23%) 5| 84.64 87.20%
I [BEmfE  (BRRehtsehT 1 8| 2(25%) S| 84.64 87.20%
I [#2E (B REhserT 1 S| 2040%) S| 84.64 87.20%
I EETE (BRI 2 100 2(20%) S| 84.64 87.20%
I [EWEF (BERehtserT 1 S| 1(20%) S| 84.64 87.20%
1 [EEE |[EEbETERT 1 10l 3(30%) 5| 84.64 87.20%
1 |EmEa  |EERRe AT 1 6| 3(50%) 5| 84.64 87.20%
1 |GEE (B2 1 6| 2(33%) 5| 84.64 87.20%
21 [FES (BB SEAT 2 11 3(27%) 4,97 84.15 73.70%
22 [WetEml  |BEERTIASEAT 1| 20 4(20%) 4.94  83.98 72.40%
23 |REE BRI 1| 24 6(25%) 4.93]  83.86 70.. 50%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

90 & * 30% =27 4 AW : 1 F Pt H W

BRBETE S BETHERAT R BB ARE RS EEE AP E R IR F SR

1 |EREE R A 1 13} 9(69%) 5| 85.36 99 40%
2 |RkEE |EETEREA 2| 85| 34(40%) 4.95  84.91 98.30%
3 lELtE (R TARE A 1 11| 7(64%) 4.94/  84.82 97.20%
4 B0 [BEHERTEZEZ | 50 27(54%) 4.93|  84.76 96.10%
5 |BotE |[ETIESEAR 2| 90| 42(47%) 4.86| 84.16 95%
6 |4 [BETFIEEA 2| 101| 54(53%) 4.86| 84.10 93.90%
T EERRE (BT IEEA 2| 118| 43(36%) 4.86| 84.07 92.80%
8 [HEfFlfE [BEHTIEEA 1| 59 39(66%) 4.84] 83.98 91.10%
8 [RIE(C | TF2E 4 1 37| 9(24%) 4.84f  83.98 91.10%
10 |BRF5R | AR EE A 2| 88| 43(49%) 4.83  83.92 88.90%
10 ZRHHZR [ TIEZE A 1| 43| 25(58%) 4.83  83.92 88.90%
12 |28 (R [ IEE A 21 80| 29(36%) 4.82( 83.88 87.20%
13 [FEZ | TIEE A 1| 39 17(44%) 4.82] 83.86 85.60%
13 [—F [ETRZEA 1| 74 22(30%) 4.82] 83.86 85.60%
15 |[EiERE | TR A 2| 106| 80(75%) 4.79 83.56 83.30%
15 [fiEey (B TR A 1| 63 19(30%) 4.79 83.56 83.30%
17 EERZ [T A 2 57| 26(46%) 4.81] 83.49 81.70%
18 [fRHHZE [P CAREE A 1 45| 20(44%) 4.77)  83.44 80. 609
19 | EkE |[BHTREZ% 3| 118] 51(43%) 4.76|  83.36 79 . 40%
20 [BE&EM {ETEMR TR % 1 59| 39(66%) 4.75  83.26 78.30%
21 [BI2% [T A 3| 108| 53(49%) 4.75  83.25 77.20%
22 |Ek% (BT A 1 59| 25(42%) 4.74  83.14 75.60%
22 | BT (BT IEREA 1| 51| 21(41%) 4.74  83.14 75. 60%
24 W E ([ERTEEAR 3| 91| 48(53%) 4.73]  83.12 73.90%
25 |iR{ERE (B T2 A 1 40[ 27(68%) 4.73]  83.08 72.20%
25 [ | TAEEE A 2 89| 30(34%) 4.73|  83.08 72.20%

2] |ER%E |[ETIEEA 2 89| 41(46%) 4,72 83.07 70.60%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

55 & X 30% =16 A HATAEW] 1 1 AT o

IR BT 4 B BT A T E AR A B R 4 T A\ S E IR A S5 [T AR S B 4 )
| [REF | TEkRAT 1 o 5(56%) S| 84.88 87.30%
1 | HHE | TERREA AT 1 201 5(25%) 5| 84.88 87.30%
1 |REE | TSR 1 9 2(22%) 5| 84.88 87.30%
1 (R | TE R STAT 1 31 9(29%) 5| 84.88 87.30%
1 |EEZ | TSR 1 7 4(57%) 5| 84.88 87.30%
R =T o 1 S| 2(40%) S| 84.88 87.30%
| PEES | TERpese AT 1| 13 5(38%) S| 84.88 87.30%
[ | TR g AT 1 | 3(43%) S| 84.88 87.30%
| [BEHAE | TERbEaRAT 1 1| 2029%) S| 84.88 87.30%
1 |8l | TEREHITAT 1 211 6(29%) 5| 84.88 87.30%
1 [BR—%) | TEREoERT 1 5| 1(20%) 5| 84.88 87.30%
1 BRI | TERRERA SR 1 11| 5(45%) 5| 84.88 87.30%
1 |FRMERE | TERRErATTAT 1 8| 4(50%) 5| 84.88 87.30%
| el | TEBESEHT 1 9 2(22%) 5| 84.88 87.30%
15 [FEfhi | TEBEhFeAT 2 42| 12(29%) 5| 84.81 73.60%
16 (=T |[TEEEERT 1 6| 3(50%) 4.96] 84.52 71.80%




EACEIIE#RS 1 EPKRELLAE L HAAEYNES(H 30%)
TH & % 30% =22 A FAesEw] - FEE L FIN
ji %&Eﬂ;ﬁ!& . z;z =l ﬁ; ﬁzﬁﬁ %ﬁ(ﬁﬂi@é\%@ bnfﬁfﬂ JIjig: 2 %gﬁ%%
1 |[HEBR  |[THESETE 1 17] 4(24%) S| 85.72 98.70%
1 [ EEI (T2 A 1 8| 5(62%) 5| 85.72 98.70%
3 [EEAGHE | TERGTE A 1 24| 11(46%) 4.94 85.18 96%)
3 [ | THESETEA 1 28] 8(29%) 4.94 85.18 96%)
5| EBA | TpEEEE L 1| 24| 14(58%) 4.90] 84.88 94%
6 [F4Er | T#katE 4 1| 570 29(51%) 4.89] 84.82 92.70%
T [tREE [ 1| 42 19(45%) 4.83|  84.28 90.70%
T WRRRGE  [EHEREE A 2| 75 39(52%) 4.83|  84.28 90.70%
0 [FEEAE | THERETE AR 3 46| 23(50%) 4.69] 84.17 88.70%
10 [PEE Bﬁ{ﬁ%gﬁ%fgm% 1| 53] 29(55%) 4.81 84.16 87.30%

+

11 & |[T¥EETE 4 1 19 12(63%) 4.80] 84.04 85.30%
1| |[THEETE A 1 19 6(32%) 4.80] 84.04 85.30%
13 |MEE |T#EXETEL 2 200 9(45%) 4.79] 83.98 83.30%
14 | EEZ [BHEHELH 2 70 36(51%) 4.79]  83.95 82%
15 BT | TEtE4 1 19| 12(63%) 4.78)  83.92 80%
15 [pRfREE | T2E%Et 1| 24 7(29%) 4,78 83.92 80%
17 [EE [EHBEHEA 1 43[ 19(44%) 4.77  83.80 78%
18 [Mhfeie [EEHEE A 1 50 36(72%) 4.76]  83.74 76.70%
19 |fEerE | TEGTE A 3 53| 34(64%) 4,67 83.71 75.30%
20 (AREbEL | TCEEREETEE A 1 240 6(25%) 4,74 83.56 74%
21 [BSGEE | TSGR A 2l 24| 12(50%) 4,73 83.50 72.70%
22 |WheEIE [T 2 2| 75 50(67%) 4.76]  83.43 71.30%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

49 X % 30% =15 X HARHE S ¢ FEE BT AT

IR BT 4 P T A APt E 48 A R BT A S {E R4 S (TR AR 53 B 43 4R
I |bhfBi%  (ERBERIEAT 1 6| 6(100%) S| 84.94 91.80%
1 R [EEEReTAT 1 6| 3(50%) 5| 84.94 91.80%
1 |EKHE (BT 1 5| 3(60%) 5| 84.94 91.80%
1 | EEZ BT 1 11| 5(45%) 5| 84.94 91.80%
1 [=EE BB 1 8| 2(25%) 5| 84.94 91.80%
B (BB TR 1 26]  8(31%) S| 84.94 91.80%
| B (BB TTAT 2 12] 3(25%) S| 84.94 91.80%
1 TEi% (E2bfserr 1 6| 5(83%) S| 84.94 91.80%
9 PREARM [EEBEHTIEAT 6| 130 58(45%) 4.97  84.56 82.70%
10 R XE BB ZERT 1 14 5(36%) 4.96] 84.52 80. 60%
11 [=F1F B2 2 29| 10(34%) 4,97 84.47 78.60%
12 |GER  |EETERT 1 7 4(57%) 4.94  84.34 75.50%
12 |BRZiey BB ZERT 1 7 4(57%) 4.94  84.34 75. 50%
14 =865 [EEBEHTIEAT o 1] 3(27%) 4.95  84.26 72 40%
15 [BhstE  [E2bHserr 3| 28] 17(61%) 4.92  84.21 70. 40%




EAAEIIZEEZRY | EPKRFLLA L L umuYEE( 30%

2 4 % 30% =1 X FARKEY]  FEFE Frak g0

LRBETES BETREERST R EBEABER G E A E RS IR B R
I FPfe N TSR LERER 1| 31) 19(61%) 4.70]  82.06 50%

EAAEIIZEEZRY | EPKRFLLA A L umEYEE( 30%

34 % 30% =1 A FoAsE  FEEE BT

ERIBETER BETRHELRAT R EBEA B S EETE A S E | IR SE S AR 5 B S ER
1 | EBER EEEEERTITAT 1 12| 4(33%) 4.94  82.60 66.70%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

59 X X 30% =18 A FHATHEH] - WY

CRBETERL BETREEART ([RIEBEABE R G AT E A E R (AR H 2 E R
O (G e e eI =P 2 34 8(24%) S| 85.42 99. 20%
2 [FRARUR RO B SR 1 18] 7(39%) 4.95 85 97.50%
3 [EiHHE @R L EAREER 1 60| 36(60%) 4.85  84.16 94..90%
3| EEMW |EEPLERER 1| 109 29(27%) 4.85 84.16 94..90%
5 |BIER e O A SCEIT R 4 259 96(37%) 4.85  84.09 92.40%
6 |HEEA [T LSRR 4 73| 34(47%) 4.840  84.01 90. 70%
7 BR[O g R S| 340[132(39%) 4.78|  83.85 89%
8 |Efat  |EEk LSRR 3| 540 20(37%) 4.81| 83.82 86. 40%
8 |ESEIE |Eakd g 2R} 4 274/108(39%) 4.80 83.82 86. 40%
10 |BR4E 2 |k L E2REER R} 2| 110 38(35%) 4.80] 83.67 83.90%
11 fEERE @0 rg R 7 152 60(39%) 4.790  83.66 82.20%
12 |BRfEE a0 E2RER 2 56| 35(62%) 4.78]  83.50 80. 50%
13 |[BRF st O g 2R 1 60| 25(42%) 4.76] 83.38 78.80%
14 [EHIEFE (SO E R 3 211| 65(31%) 4,75 83.28 77.10%
15 BEoR @m0 B AR 3 99| 55(56%) 4.740  83.24 75 . 40%
16 |F 80 |k A SCEITERRY 1 59| 29(49%) 4.74/  83.20 72.90%
16 [PREFT [0 E AR 1 53| 11(21%) 4.74  83.20 72.90%
18 | EE8E  |Ea L ERE R 1 53| 32(60%) 4,73 83.14 70. 30%




AR INFERY 1 FHPRELLA L Eisls %3 30%)

15 % % 30% =4 * FAesgn] - KEZENWY

IR BT 4 B BT A T E AR A B R 4 T A\ S E IR A S5 [T AR S B 4 )
| [ERE E=E S| 202| 94(47%) 4.79]  83.80 96.70%
2 |[EREH BEEE S| 180 77(43%) 4.7  83.43 90%
3 BEIWE REE 4 177 66(37%) 4.74  83.38 83.30%
4 RS BEE 3| 84) 37(44%) 4.72[  83.16 76.70%

EAXEIN SRS 1 EHPKEILA L LAY ES(H 30%)

34 % 30% =1 % HARKES| 1 H @ AT AT

IR B 4 BT A TR B B AR R BT E AP (E IR Ry B 4y Sk
L |59 [HASTERT 1| 24 9(38%) 4.95 85.24 83.30%




